## GROUP CLASSIFICATION FOR A VARIABLE COEFFICIENT $K(m, n)$ EQUATION

K. Charalambous ${ }^{1}$, C. Sophocleous ${ }^{1}$, O.O. Vaneeva ${ }^{2}$

${ }^{1}$ Department of Mathematics and Statistics, University of Cyprus ${ }^{2}$ Institute of Mathematics of National Academy of Sciences of Ukraine

## $\mathrm{XV}^{\text {th }}$ International Conference

"Geometry, Integrability and Quantization"
7-12 June 2013,
Varna, Bulgaria.

We consider the class of nonlinear equation

$$
\begin{equation*}
u_{t}+f(t)\left(u^{m}\right)_{x}+g(t)\left(u^{n}\right)_{x x x}=0, \quad g n \neq 0, \tag{1}
\end{equation*}
$$

which is of interest in Mathematical Physics. Special cases of this class have been used to model successfully physical situations in a wide range of fields. For example, we have the generalization of the KdV equation

$$
u_{t}+\left(u^{m}\right)_{x}+\frac{1}{n}\left(u^{n}\right)_{x x x}=0
$$

Equations of the above type with values of the parameters $m$ and $n$ are denoted by $K(m, n)$.

We call an equivalence transformation of a class of partial differential equations (PDEs), $E(t, x, u)=0$, an invertible transformation of the variables $t, x$ and $u$ of the form

$$
\tilde{t}=Q(t, x, u), \tilde{x}=P(t, x, u), \tilde{u}=R(t, x, u)
$$

that maps every equation of the class into an equation of the same form, $E(\tilde{t}, \tilde{x}, \tilde{u})=0$. The set of all equivalence transformations of a given family of differential equations forms a group which is called the equivalence group. Here we use the direct method to derive the desired equivalence transformations, which was used first by Lie.

We present the equivalence transformations of equation (1) in the next theorems.

## Theorem

The usual equivalence group $G^{\sim}$ of class (1) is formed by the transformations

$$
\begin{aligned}
& \tilde{t}=T(t), \quad \tilde{x}=\delta_{1} x+\delta_{2}, \quad \tilde{u}=\delta_{3} u, \\
& \tilde{f}=\frac{\delta_{1} \delta_{3}^{1-m}}{T_{t}} f, \quad \tilde{g}=\frac{\delta_{1}^{3} \delta_{3}^{1-n}}{T_{t}} g, \quad \tilde{n}=n, \quad \tilde{m}=m,
\end{aligned}
$$

where $\delta_{j}, j=1,2,3$, are arbitrary constants with $\delta_{1} \delta_{3} \neq 0, T(t)$ is an arbitrary smooth function with $T_{t} \neq 0$.

## Theorem

If $m=0$ or $m=1$ then there exist additional equivalence transformations. If $m=1$, they have the form

$$
\begin{aligned}
& \tilde{t}=T(t), \quad \tilde{x}=\delta_{1}\left(x-\int f(t) \mathrm{d} t+\delta_{2}\right), \quad \tilde{u}=\delta_{3} u \\
& \tilde{g}=\frac{\delta_{1}^{3} \delta_{3}^{1-n}}{T_{t}} g, \quad \tilde{n}=n, \quad \tilde{m}=0
\end{aligned}
$$

where $\delta_{j}, j=1,2,3$, are arbitrary constants with $\delta_{1} \delta_{3} \neq 0, T(t)$ is an arbitrary smooth function with $T_{t} \neq 0$.
If $m=0$, they are written as

$$
\begin{aligned}
& \tilde{t}=T(t), \quad \tilde{x}=\delta_{1} x+\beta(t), \quad \tilde{u}=\delta_{3} u \\
& \tilde{g}=\frac{\delta_{1}^{3} \delta_{3}^{1-n}}{T_{t}} g, \quad \tilde{f}=\frac{\beta_{t}}{T_{t}}, \quad \tilde{n}=n, \quad \tilde{m}=1
\end{aligned}
$$

where $\delta_{j}, j=1,2,3$, are arbitrary constants with $\delta_{1} \delta_{3} \neq 0, T(t)$ and $\beta(t)$ are arbitrary smooth functions with $\beta_{t} T_{t} \neq 0$.

A special case of the first Theorem that we have presented is

$$
\tilde{t}=\int f(t) \mathrm{dt}, \quad \tilde{x}=x, \quad \tilde{u}=u,
$$

that maps equation (1) into

$$
\begin{equation*}
\tilde{u}_{t}+\left(\tilde{u}^{m}\right)_{\tilde{x}}+\tilde{g}(\tilde{t})\left(\tilde{u}^{n}\right)_{\tilde{x} \tilde{x} \tilde{x}}=0, \text { where } \tilde{g} n \neq 0 \text { and } \tilde{g}=\frac{g}{f} \text {. } \tag{2}
\end{equation*}
$$

## Theorem

The usual equivalence group $G^{\sim}$ of class (2) is formed by the transformations

$$
\begin{aligned}
& \tilde{t}=\delta_{1} \delta_{3}^{1-m} t+\delta_{0}, \quad \tilde{x}=\delta_{1} x+\delta_{2}, \quad \tilde{u}=\delta_{3} u \\
& \tilde{g}=\delta_{1}^{2} \delta_{3}^{m-n} g, \quad \tilde{n}=n, \quad \tilde{m}=m
\end{aligned}
$$

where $\delta_{j}, j=0,1,2,3$, are arbitrary constants with $\delta_{1} \delta_{3} \neq 0$.

## 3. Lie Symmetries for Equation (2)

We have seen that if we use the equivalence transformations equation (1) can be mapped into (2). For this reason we are looking only for the Lie symmetries of equation (2).
From the definition, a PDE, $E\left(t, x, u, u_{t}, u_{x}, \ldots\right)=0$, possesses a Lie point symmetry,

$$
\Gamma=\tau(t, x, u) \partial_{t}+\xi(t, x, u) \partial_{x}+\eta(t, x, u) \partial_{u}
$$

if and only if

$$
\left.\Gamma^{(s e)} E\right|_{E=0}=0
$$

where $\Gamma^{(s e)}$ means that $\Gamma$ must be suitably extended. Equation (2) admits Lie point symmetries if and only if

$$
\begin{equation*}
\Gamma^{(3)}\left[u_{t}+\left(u^{m}\right)_{x}+g(t)\left(u^{n}\right)_{x x x}\right]=0 \tag{3}
\end{equation*}
$$

for $u_{t}=-\left(u^{m}\right)_{x}-g(t)\left(u^{n}\right)_{x x x}$.

After we have used the above expression we can eliminate $u_{t}$ and equation (3) becomes an identity in the variables $u_{x}, u_{x x}, u_{t x}, u_{x x x}$ and $u_{t x x}$. From coefficients of different powers of these variables, which must be equal to zero, we derive the determining equations on the coefficients $\tau$, $\xi$ and $\eta$. We use the general results on point transformations between evolution equations [Kingston and Sophocleous 1998] and the forms of the coefficients can be simplified, that is,

$$
\tau=\tau(t) \text { and } \xi=\xi(t, x) .
$$

From the coefficient of $u_{x x x}$ we have that

$$
\left[g_{t} \tau+g\left(\tau_{t}-3 \xi_{x}\right)\right] u+(n-1) g \eta=0 .
$$

We deduce that the analysis needs to be split in two cases:

- $n \neq 1$ and
- $n=1$.

In this case the form of $\eta$ is

$$
\eta=-\frac{\left[g_{t} \tau+g\left(\tau_{t}-3 \xi_{x}\right)\right] u}{(n-1) g}
$$

and the coefficients of $u_{x x}, u_{x}^{2}, u_{x}$ and the term independent of derivatives in (3) produce the following determining equations, respectively,

$$
n(2 n+1) g \xi_{x x}=0
$$

(The coefficient of $u_{x x}$ is the same as the coefficient of $u_{x}^{2}$ ),

$$
\begin{aligned}
& {\left[m(m-n) g \tau_{t}-m(3 m-n-2) g \xi_{x}+m(m-1) g_{t} \tau\right] u^{m}} \\
& -8 n(n+1) g^{2} \xi_{x x x} u^{n}+(n-1) g \xi_{t} u=0 \\
& 3 m g^{2} \xi_{x x} u^{m}+3 n g^{3} \xi_{x x x x} u^{n} \\
& -\left[g^{2} \tau_{t t}+g g_{t} \tau_{t}+g g_{t t} \tau-g_{t}^{2} \tau-3 \xi_{t x} g^{2}\right] u=0
\end{aligned}
$$

After we have solved the above determining system, we take the forms of $\tau(t), \xi(t, x)$ and the function $g(t)$. The Lie symmetries according the form of $g(t)$ are tabulated in the Table 1.

Table 1: Classification of equation (2) $(n \neq 1)$

| Cases | $n$ | $m$ | $g(t)$ | Conditions | Basis of $A^{\text {max }}$ |
| :---: | :---: | :---: | :---: | :---: | :---: |
| $n \neq 1$ |  |  |  |  |  |
| 1 | $\forall$ | $\forall$ | $\forall$ |  | $\partial_{x}$ |
| 2 | $3 m-n-2=0$ |  | $\forall$ |  | $\partial_{x}, x \partial_{x}+\frac{3 u}{n-1} \partial_{u}$ |
| 3 | $\forall$ | 0 | $\forall$ |  | $\frac{1}{g} \partial_{t}, \partial_{x}, x \partial_{x}+\frac{3 u}{n-1} \partial_{u}, 3 \frac{\int g d t}{g} \partial_{t}+x \partial_{x}$ |
| 4 | $-\frac{1}{2}$ | 0 | $\forall$ |  | $\begin{aligned} & \frac{1}{g} \partial_{t}, \partial_{x}, x \partial_{x}-2 u \partial_{u}, 3 \frac{\int g d t}{g} \partial_{t}+x \partial_{x}, \\ & x^{2} \partial_{x}-4 x u \partial_{u} \end{aligned}$ |
| 5 | $\forall$ | $\forall$ | constant |  | $\partial_{t}, \partial_{x},(3 m-n-2) t \partial_{t}+(m-n) x \partial_{x}-2 u \partial_{u}$ |
| 6 | $-\frac{1}{2}$ | $-\frac{1}{2}$ | constant | $\begin{aligned} & g>0 \\ & g<0 \end{aligned}$ | $\begin{aligned} & \partial_{t}, \partial_{x}, 3 t \partial_{t}+2 u \partial_{u}, \\ & \sqrt{g} \sin \left(\frac{1}{\sqrt{g}} x\right) \partial_{x}-2 u \cos \left(\frac{1}{\sqrt{g}} x\right) \partial_{u}, \\ & \sqrt{g} \cos \left(\frac{1}{\sqrt{g}} x\right) \partial_{x}+2 u \sin \left(\frac{1}{\sqrt{g}} x\right) \partial_{u} \\ & \sqrt{\|g\|} e^{\frac{1}{\sqrt{g g}} x} \partial_{x}-2 u e^{\frac{1}{\sqrt{\|g\|}} x} \partial_{u}, \\ & \sqrt{\|g\|} e^{-\frac{1}{\sqrt{\|g\|}} x} \partial_{x}+2 u e^{-\frac{1}{\sqrt{\|g\|}} x} \partial_{u} \end{aligned}$ |
| 7 | $\forall$ | $\forall$ | $t^{k}$ | $k \neq 2$ | $\begin{aligned} & \partial_{x},(3 m-n-2) t \partial_{t}+(k m-k+m-n) x \partial_{x} \\ & +(k-2) u \partial_{u} \end{aligned}$ |
| 8 | $3 m$ | $-2=0$ | $t^{k}$ | $k=2$ | $\partial_{x}, x \partial_{x}+\frac{3 u}{n-1} \partial_{u}, t \partial_{t}+x \partial_{x}$ |
| 9 | $\forall$ | $\forall$ | $e^{k t}$ |  | $\partial_{x},(3 m-n-2) \partial_{t}+k(m-1) x \partial_{x}+k u \partial_{u}$ |

For the Cases 3 and 4, for which $m=0$, we can introduce a new time $T=\int g \mathrm{dt}$.

In this case, from the coefficient of $u_{x} u_{x x}$ we have that $\eta_{u u}=0$, so

$$
\eta=a_{1}(t, x) u+a_{2}(t, x)
$$

We use the fact that $\tau=\tau(t), \xi=\xi(t, x)$ and the form for $\eta$ and from
(3) we obtain the following determining equations

$$
\begin{aligned}
& g_{t} \tau+g\left(\tau_{t}-3 \xi_{x}\right)=0 \\
& a_{1 x}-\xi_{x x}=0 \\
& m\left[\tau_{t}-\xi_{x}+(m-1) a_{1}\right] u^{m+1} \\
& +m(m-1) a_{2} u^{m}+\left(3 g a_{1 x x}-\xi_{t}-g \xi_{x x x}\right) u^{2}=0 \\
& m a_{1 x} u^{m+1}+m a_{2 x} u^{m}+\left(a_{1 t}+g a_{1 x x x}\right) u^{2}+\left(a_{2 t}+g a_{2 x x x}\right) u=0 .
\end{aligned}
$$

We solve the system and in Table 2 we present the different forms for the Lie algebra according to the possible forms of the function $g(t)$.

Table 2 : Classification of equation (2) $(n=1)$

| Cases | $g(t)$ | Conditions | Basis of $A^{\text {max }}$ |
| :---: | :---: | :---: | :---: |
| $n=1$ |  |  |  |
| $m \neq 2$ |  |  |  |
| 1 | $\forall$ |  | $\partial_{x}$ |
| 2 | constant |  | $\partial_{t}, \partial_{x}, 3(m-1) t \partial_{t}+(m-1) x \partial_{x}-2 u \partial_{u}$ |
| 3 | $t^{k}$ |  | $\partial_{x}, 3(m-1) t \partial_{t}+(m-1)(k+1) x \partial_{x}+(k-2) u \partial_{u}$ |
| 4 | $e^{k t}$ |  | $\partial_{x}, 3(m-1) \partial_{t}+k(m-1) x \partial_{x}+k u \partial_{u}$ |
| $m=2$ |  |  |  |
| 5 | $\forall$ |  | $\partial_{x}, 2 t \partial_{x}+\partial_{u}$ |
| 6 | constant |  | $\partial_{t}, \partial_{x}, 2 t \partial_{x}+\partial_{u}, 3 t \partial_{t}+x \partial_{x}-2 u \partial_{u}$ |
| 7 | $t^{k}$ | $k \neq 1$ | $\partial_{x}, 2 t \partial_{x}+\partial_{u}, 3 t \partial_{t}+(k+1) x \partial_{x}+(k-2) u \partial_{u}$ |
| 8 | $t^{k}$ | $k=1$ | $\begin{aligned} & \partial_{x}, 2 t \partial_{x}+\partial_{u}, 3 t \partial_{t}+2 x \partial_{x}-u \partial_{u}, \\ & 2 t^{2} \partial_{t}+2 t x \partial_{x}+(x-2 t u) \partial_{u} \end{aligned}$ |
| 9 | $e^{k t}$ |  | $\partial_{x}, 2 t \partial_{x}+\partial_{u}, 3 \partial_{t}+k x \partial_{x}+k u \partial_{u}$ |
| 10 | $g_{1}(t)$ | $p^{2}-4 q-4 r^{2} \neq 0$ | $\begin{aligned} & \partial_{x}, 2 t \partial_{x}+\partial_{u}, 6\left(t^{2}+p t+q\right) \partial_{t}+(6 t+2 r+3 p) x \partial_{x} \\ & -(6 t u-2 r u+3 p u-3 x) \partial_{u} \end{aligned}$ |

In Case 10, $g_{1}(t)=\sqrt{t^{2}+p t+q} \exp \left(\int \frac{r d t}{t^{2}+p t+q}\right)$ and $p, q$ and $r$ are arbitrary constants such that $p^{2}-4 q-4 r^{2} \neq 0$ because then we revert to Case 8.

## 4. Boundary Value Problem for a Generalized $K(m, n)$ Equation

We consider the following initial and boundary value problem

$$
\begin{gather*}
u_{t}+\left(u^{m}\right)_{x}+t^{k}\left(u^{n}\right)_{x x x}=0, \quad t>0, x>0  \tag{4}\\
u(x, 0)=0, \\
u(0, t)=q(t),  \tag{5}\\
u_{x}(0, t)=0, \quad t>0 \\
u_{x x}(0, t)=0, \quad t>0
\end{gather*}
$$

Equation (4) admits for arbitrary $n, m$ and $k$ two-dimensional Lie symmetry algebra with basis operators

$$
\Gamma_{1}=\partial_{x}, \quad \Gamma_{2}=(3 m-n-2) t \partial_{t}+(k m-k+m-n) x \partial_{x}+(k-2) u \partial_{u} .
$$

To determine the symmetry we take the linear combination

$$
\Gamma=\alpha_{1} \Gamma_{1}+\alpha_{2} \Gamma_{2} .
$$

In this case we have
$\Gamma=\alpha_{1} \partial_{x}+\alpha_{2}\left[(3 m-n-2) t \partial_{t}+(k m-k+m-n) x \partial_{x}+(k-2) u \partial_{u}\right]$
Application of $\Gamma$ to the first boundary condition

$$
x=0, u(0, t)=q(t)
$$

gives

$$
\alpha_{1}=0 \quad \text { and } \quad q(t)=\gamma t^{\frac{k-2}{3 m-n-2}} .
$$

Using the second extension of $\Gamma$,

$$
\begin{aligned}
\Gamma^{(2)}= & (3 m-n-2) t \partial_{t}+(k m-k+m-n) x \partial_{x}+(k-2) u \partial_{u} \\
& +(2 k-m k-m+n-2) u_{x} \partial_{u_{x}} \\
& +(3 k-2 m k-2 m+2 n-2) u_{x x} \partial_{u_{x x}}
\end{aligned}
$$

where the unused terms have been ignored, it can be shown that it leaves invariant the initial condition and the remaining two boundary conditions of (5).

Finally, symmetry $\Gamma$ produces the transformation

$$
u=t^{\frac{k-2}{3 m-n-2}} \phi(\omega), \quad \omega=x t^{-\frac{k m-k+m-n}{3 m-n-2}}
$$

which reduces the problem (4)-(5) into

$$
\begin{aligned}
& \left(\phi^{n}\right)^{\prime \prime \prime}+\left(\phi^{m}\right)^{\prime}-\frac{k m-k+m-n}{3 m-n-2} \omega \phi^{\prime}+\frac{k-2}{3 m-n-2} \phi=0, \\
& \phi(0)=\gamma, \quad \phi^{\prime}(0)=0, \quad \phi^{\prime \prime}(0)=0 .
\end{aligned}
$$

## References

( G.W. Bluman and J.D. Cole, The general similarity solution of the heat equation, J. Math. Mech. 18 (1969), 1025-1042.
G.W. Bluman and S.C. Anco, Symmetry and Integration Methods for Differential Equations, Springer-Verlag, New York, 2002.
R G.W. Bluman, Application of the general similarity solution of the heat equation to boundary-value problems, Quart. Appl. Math. 31 (1974), 403-415.
N.H. Ibragimov, Elementary Lie group analysis and ordinary differential equations. Wiley, New York, 1999.
圊
J.G. Kingston and C. Sophocleous, On form-preserving point transformations of partial differential equations, J. Phys. A: Math. Gen. 31 (1998), 1597-1619.
P. Olver, Applications of Lie groups to differential equations, New-York, Springer-Verlag, 1986.

R L.V. Ovsiannikov, Group analysis of differential equations, New York, Academic Press, 1982.
R. C. Sophocleous, J.G. O'Hara and P.G.L. Leach, Symmetry analysis of a model of stochastic volatility with time-dependent parameters, $J$. Comput. Appl. Math. 235 (2011), 4158-4164.
C. Sophocleous, J.G. O'Hara and P.G.L. Leach, Algebraic solution of the Stein-Stein Model for stochastic volatility, Commun. Nonlinear Sci. Numer. Simul. 16 (2011), 1752-1759.
O.O. Vaneeva, C. Sophocleous and P.G.L. Leach, Lie symmetries of generalized Burgers equations: application to boundary-value problems, arXiv:1303.3548.

